IR EE—PEE=8F%HERE (2024.9.29)
(ERRE] 120 2080, W4 150 4)

— EFRE (Gt 10 DEE, BE 45y, FE404)

L2 U=R, FEHA={x|x<2},B={x|x<1} WA ( CyA) UB=

A (-2) B [2,+%] C (1,2) D (-o0,1)U[2,+0]

24 xeR, fiEa=(L2), b=(x1), Halb, Wl|a+b=

A. 5 B. 2.5 c. J10 D. 10

3BT IS A, WIS a (90
a—Tl1

A. —3 B. —1 C. 1 D. 3

ALE T AR E, HEC0N R BIE R A2
A f(x)=x B.f(x)=In]x] c f(x)=2"+27 D. f(x)=xcosx

5. (b S 38 SE MU BRI M s e ) 4R, T EBE P s ORI 28 &3
SERE ML, TR AT TR X MR SE IR @y, a5, a5, a4, a5 (AL :cm) B5E Z 5051,
XFEH) 5 8 by, by, by, by, g (FAAL: em), K 56 2 LEHRAHAE, Clhla, =288, a;=96, b =192,
N by =

A. 64 B. 96 C. 128 D. 160

6.1E AABCH, AD NBCiH b4k, BHENAD KT A, WCE= C )
1 1 3

A —LaB-370 B. —LAB-2AC
4 4 4 4
- 5— l-— 3—
. —AB——AC . —AB—-—=AC
€ 3 4 b- 3 4
- > - - > o T
T IR 0, b i 0| =(bl =1, FIUEA0, T “|ambl>17 2“0 e(Fx]”

A T ALEEAF B WEATE AT
C FEEFM D BEATE I AL E KA



8. X T XAER EWIiE y = f(x), HAEARTLE x,, %y = f(x)1E (—o0,x,) M
(xg,to0) EXHEZ S, MR x, NERE Yy = f(x) B—A “Hri”. FHIUAREAFLE “Hra”
9P ss

A f(x)=3""+2 B f(x)=Ig(lx/+2021)

3

C f(x):x?—x—l D f(x)=x"-2mx—1
9. JEAR A TAEA S A H, WRBA A FORIIRE 2 6°C, =R 2 6,°C , W ¢ min
JERUE A R 0°C T AR O =0,+ (6, -0,)e™™ K. IRIZ R 62°C WAL A AL 15°C

oz A 0, WP A (IR VA H08) 10 A 27°C TP 43 50 ¢, min g, min , 012, — 1, 1

B2 (Z3FEHE In3~1.10)

A 27 B 3.7 C 47 D 57

0,x<1
10. CEIRREL f(x) = { r= 51’ FHAENX f(x) < |x—k| XHERER x € RIS, WSk
X >
LT AN
A(=o0,1] B.[1,0) C.[0,1) D.(~1,0]

=, mEE (B85 5, 362590
e
ﬁf()g@+) XESE

12. 1S, N % L {a, | G n R, Hha, 5, a, [%5EZHH), Hay-a;=8, NI

S, =

s ; w1 75 L (7R TR 5 "
WKy 2 [FIETY ABCD ,ﬁP¥VﬁEAP=E(AB+AC), mu\PD\= s ARH

RUEL AP LRIEE, W g gp WA

S x=
14 CL 41 B B £ (x) = Yf“’ L) ER BB AR, W a i B G
-x"+2a,x<a.

=]
rE



1

a,a

158%!]%5’%%&5” {an} E‘Jﬁﬁ‘nlﬁiny‘j Sn ’ E-SZOB < 52024 < Sz()zz . ﬁﬁ” { } E‘Jﬁﬁ‘nIﬁ$l]y‘an .

n+l

AN 18
@ Aypy <03 @ Ar022%2023 > 0244025 :
Off S, <0 BRALI n (5 KAE A 4048 @M n=20230, T, EEH/IME.

Hrp i IEAA R 7 52

=, &S (3te /M, 3£854))
16. (A/NE 14 73 E%ﬂ&i&f(x)=sinx(ﬁCOSX+Sinx)—%.
CT ) 3R () B i 4 X ] 5

(1) 4 g(x)=af (x)+b,x e Eﬂ , e @>0 g2 o () Mt [2,5] sk @ A b rf.

17 (RNRR 1357 CRIEWES {a, ) s ED], HATn AN S, , a,=9, S,=39.

(D RKE {a,} FIEINA
(ID %% {a, b,y RETWNL, ~ZNIMEZELS], RKEF b,y BB X AT 7 I

}FD 7:1'

18. (APB137r)  FEAABCH, c=2, C=30°. HNFMHO. FMHOQ. %MHOX=
ANEAEIERE - ME N O, A M =M, K.
(1) ala;
(II) AABC HIHFR.

ZMH@: 2b=x/§a:
%M@: A=45°;

MG p=23.
E: mRAFSZANAEHLSARE, BE-ABES.



19. RN 16 40) K4, B2 HNS NG BBEE, A2 734

B 28k, B ERE T 34T 481k, RTINS — R S gL H

TGRS, SN 5 AE T BENLE 3 N Lo BB LA EL 3 N i3k

B2 3.

(1) R AhEZDHE1AFENERE NI

(I WX FR ATFESHRMB AN, KX AR5 REC

D ©an 3 2 BAR RS 3N 76,8084, 3 %M LIRS AN 77, a
(aeN") 81, # 3 LSRR SII T 2 KT 3 B LAEMLIRGIN T %, 5
Ha FHUETER CRZERIEFE |

20 (AN 15 43D

B f(x)=ax’ —e*, B h(x)= f'(x).

(1) %a=§, SR h(x) BB IX ]

(1D # f(x) f£IX 18] (0, +00) EAFFERR/ME m,

(1) Ka WEUEIEH;
() iEH: m>—a.

21 R/ 15 73

CHITLT S {a,}, HHLLREX:

MNFEENneN , #fHa,+a,,=2a,, , WKEES{a,} N “ TSI F50H, %t
FERneN, #fa,+a,,>2a,, » WHKEEF{a, < T %550

(D CH%5{a,}» {b,} BRI n BRI HIAN A,,B,, Ha,=2n-1, b, =-2"", it}
WiEsl {4}, BB} & H “THI”, FHiui o,

(ID EW: 081 {a,} 9« T HO)” F AR “XTEEN k,mneN, Bk<m<n
i, # (n—m)a, +(m—k)a, =(n-k)a,”

(1D TAI%F1 (b, } 9“4 T K517, HAFEKIneN" | b, eZ, by=-8, b,y =—8.5K
5 {b, } W/ N B KA.



	京考�
	关于我们




